[ToBTOpEenue

«lHokazamenvnubie
YPAGHECHUA U HEPABCHCMEQ)).

[IpenomaBaresib MaTeMaTUKHU
I'BIIOYPK «bTT» Hruarsesa H.JI.




HOKA3amMe/IbHbIX
YypasHeHUil.




3amanme Ne 1

* Perre ypaBHEHUE:

1
165—3X - 0,1255X—6 0,125 — g — 273

(24)5—3X — (2—3)5X—6
220—12X o 2—15X+18

20— 12x=-15x+ 18
3Ix=-2
x =-2/3




~ 3apanme Ne2

Pelure ypaBHEHUE:
:2X+3 R 2X+1 _ 2X .7 = 48
25(8+2—7) = 48 *
2% =48:3
| 2X - 24—

x+=4




3aganne Ne 3
* Perre ypaBHEHUE:
4.247 « 2%=4
25 =8 Q4]
2a*+T7a—4=0
a=-4:0,5

2= =4 2%= 10,5
- KopHen Het X = -1
OtBeT: - |




3aganue Ne 4

* Perire ypaBHEHUE:

(%)\/3—3x - 83

O™ - G
V3 —-3x= -9 :

V3—3X

KopHen HeT



2. Peuienue ,
NOKA3ameibHbvlx
HepageHcme.




- 3aganue Nel

* Penmire HEpaBEHCTBO:

1 —3
5 i

T. K. 7 >1
1<x-3<2
2=




3amanue Ne 2

* Perinre HEPABEHCTBO:

3248k & 25

1
(2% <

210X+15 < 2—2 T K. 2 > 1 |

HOx A3 =L=r2
x <-1,7




3aganue Ne 3
* Perinre HEPABEHCTBO:

(z)2+4x > 0,751—8)(

T. K. 0,75 <1, 10
2+4x <1 —-8x

12x < -1
x <-1/12







~ 3aganme Nel ‘

* Pemire ypaBHEHHE:

2%—1. 3x+1 — 394
2%.2-1 .3%.3 = 324
1 6% = 324 - 2:3

6% = 216
x=3




3agaua No 2
* Pemure ypaBHEHUE:
32X+5 . 22X+7 i 9X+2 . 4X+2 =0

32X+5 . 22X+7 il 32X+4 . 22X+4 =0
32X+5 + 32X+4 - 22X+7 + 22X+4 |

1325+ (34 1) = 224, (8 4 1)

3 9
- RIXAE
G5 = S
R4 =2

X=-1




